
<104,68>

<107,06>

<102,91>

<100,38>

<95,82>

P.P.  =  93,00

Skala pionowa  1:50

Skala pozioma  1:1000
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ELEMENTY NIWELETY
i=-0,670%

L=108,06

R=3600,00
T=33,75
B=0,16

L=137,14

i=1,205%
R=1600,00

T=26,60
B=0,22

i=-2,120%

L=148,85

R=3600,00
T=20,36
B=0,06

i=-0,988%

L=168,92

i=-0,364%

L=417,84
L=195,04

i=0,338%
i=-0,300%

L=183,48
L=174,03

i=0,378%
R=1700,00

T=24,52
B=0,18

i=-2,507%

L=87,50

R=2800,00
T=69,91
B=0,87

L=21,39

i=2,487%

RZĘDNE TERENU

105,63
105,60
105,58

105,42
105,38

105,16
105,14

105,05

104,99
105,04
105,00

104,85
104,77
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104,88
104,91

105,08
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105,61
105,66

105,73
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106,78
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105,88
105,95
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105,04
104,97
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103,85

103,37
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97,00

97,17
97,22
97,34
97,53
97,57
97,66
97,79
97,86
97,86
98,05
98,09

ELEMENTY TRASY
L=60,83

P g[g]=0,2146

L=82,58

L g[g]=0,0311

L=20,37

L g[g]=0,2356

L=73,82

P g[g]=0,1853

L=64,29

P g[g]=0,0316

L=92,90

L g[g]=0,6660

L=113,59

P g[g]=0,0326

L=102,10

L g[g]=0,1300

L=111,85

P g[g]=0,1962

L=212,54

P g[g]=0,0515

L=176,37

L g[g]=0,2641

L=138,18

P g[g]=0,3135

L=147,32

L g[g]=0,1398

L=150,71

P g[g]=0,1530

L=49,50

L g[g]=0,4789

L=89,97
g[g]=6,03; R=370,00

T=17,53; B=0,41 L=35,03
L=80,57

g[g]=4,78; R=36,00
T=1,35; B=0,03 L=2,71

L=38,32
g[g]=18,12; R=100,00

T=14,33; B=1,02 L=28,47
L=89,60

P g[g]=0,7693 L=30,83

ODLEGŁOŚCI
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42,02
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0,00
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13,66
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10,41
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33,71
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40,25
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83,26
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0,00
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25,33
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41,33

68,16
71,31
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93,96
0,00

6,51

23,39
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23,73
26,42

50,47
51,42
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79,63
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99,97
0,00

7,82

42,32
46,10
48,95

74,56
74,79
74,97

89,94

97,39
97,76
0,00
4,19

9,99

16,13

21,39
24,97

33,79
37,32

44,39
46,79

66,26
68,56

81,45
85,52
85,90
89,61
93,98
95,32
0,00

5,53
8,24
11,00

20,42

34,29
39,75
42,91
46,56
47,46
47,64
54,16
57,00
59,74
62,29
64,86
68,65
70,34
74,68
75,03

85,36

95,03

0,00
4,46

16,39

23,30

42,48
44,20

56,56

64,63
66,61
69,72
72,88
74,07
76,40
77,53
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90,21
94,75
95,46
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Pik. = 11303,00
Rze = 105,63

Pik. = 11444,81; Rze = 104,68
PLP = 11411,06; KLP = 11478,56
R  = 3600,00
min: Pik=11435,18;  Rze=104,83
T = 33,75; B = 0,16

Pik. = 11642,29; Rze = 107,06
PLP = 11615,69; KLP = 11668,88
R  = 1600,00
max: Pik=11634,98;  Rze=106,86
T = 26,60; B = 0,22

Pik. = 11838,09; Rze = 102,91
PLP = 11817,73; KLP = 11858,45
R  = 3600,00
T = 20,36; B = 0,06

Pik. = 12027,37
Rze = 101,04

Pik. = 12445,21
Rze = 99,52

Pik. = 12640,25
Rze = 100,18

Pik. = 12823,73
Rze = 99,63

Pik. = 13022,28; Rze = 100,38
PLP = 12997,76; KLP = 13046,79
R  = 1700,00
max: Pik=13004,19;  Rze=100,30
T = 24,52; B = 0,18

Pik. = 13204,18; Rze = 95,82
PLP = 13134,29; KLP = 13274,07
R  = 2800,00
min: Pik=13204,46;  Rze=96,69
T = 69,91; B = 0,87

Pik. = 13295,46
Rze = 98,09

PLP 11+411,06

SLP 11+444,81

KLP 11+478,56

PLP 11+615,69

SLP 11+642,29

KLP 11+668,88

PLP 11+817,73

SLP 11+838,09

KLP 11+858,45

PLP 12+997,76

SLP 13+022,28

KLP 13+046,79

PLP 13+134,29

SLP 13+204,18

KLP 13+274,07

PP zmienny =  99,00

PP zmienny =  99,00

PP zmienny =  93,00
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